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20219 204 A2 SHIISEE A
500 £
510 =
511 =

09 1§ 024

[z

A 8 A A

Zop-g-8 0o sty rELV LT HimE=+T

ES A 542,426 510,322 32,104

500 £x3 121,052 114,004 7,048

510 2 NEX3S 103,766 97,858 5,908

511 2N2EIS 103,766 97,858 5,908

511-01 2D2ZX3 103,766 97,858 5,908

< SX > 103,766 97,858 5,908
oAl ¥ HHUBEHT P 42,642,000 42,642
O=QRE =3 2,185,000& 2,185
o=olRg Ba3 2,434,0009! 2,434
OAAMBR ] 24,445,0009! 24,445
OARIZIR] M AN (A 2Z0IZ2IA) 28,060, 00024 28,060
CEEET 4,000, 00024 4,000

520 Al - SHIEXZ3S 17,286 16, 146 1,140

521 Al - GHIEZ2E 17,286 16, 146 1,140

521-01 Al - CHIZZ3S 17,286 16, 146 1,140

< =D > 17,286 16, 146 1,140
O<AZSO TXICHH BABE> 14,286
OR2Hl & HH2ET? 2 8,492,000& 8,492
ozoRg #3323 4370002 437
ozolRg 243 490,0002 490
OALMT R 4,867,002 4,867
O<#IAHI> 3,000
Oo230 #FZY| 3,000, 0009 3,000

700 BEM=USLIHEHcH 421,374 392,118 29,256

720 LH=12H 421,374 390,618 30,756

21 8= 421,374 390,618 30,756

721-03 JIEtSI AN S = 421,374 390,618 30,756

< =D > 421,374 390,618 30,756
ouss MYz 421,374,0002! 421,374
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H £ 0l & AHS F Al A

20218 204 A2 S HIISSESIAH =X

[

A =X
Hm: R0 )|EMB B
¢el: MASE A=K (d220HII3S83AH) (el &3
SA SR (S) - MRAY - BAS il &t e RS2
=X 542,426 510,322 32,104
= 103,766
& 17,286
i 421,374
=20 I =M 2F 479,420 449,017 30,403
= 74,202
& 16,158
o 389,060
HASE XA (Y220 IISEEIA) 479,420 449,017 30,403
= 74,202
L= 16,158
= 389,060
o230 #HFZHI 6,240 5,540 700
= 2,496
L= 1,872
i 1,872
201 et gy| 3,000 2,500 500
= 1,200
L= 900
i 900
01 AL 22l bl 3,000 2,500 500
Ooz=0 HEZHI 3,000,000 =14 3,000
= 1,200
L= 900
o 900
202 04| 3,240 3,040 200
= 1,296
L= gr2
i gre
01 2LHOTYI 3,240 3,040 200
02z HRFAH 1,620, 000& «2H 3,240
= 1,296
& gre
o gr2
o230 NUXIEH ZaEXR 89,567 83,061 6,506
= 71,706
L= 14,286
i 3,575
307 SI2toI & 89,567 83,061 6,506
2 71,706
& 14,286
i 3,575
NEEEEET 89,567 83,061 6,506
02U U BUALET 2 X2
532,640 x100Y 53,264
= 42,642
L= 8,492
i 2,130
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A S
I 20| J|ZME SR

o9l HASS AEXNR(ASS0IISSEEA) (et &
= X L=
SA SR (S) - MRAY - BAS il &t e RS2
o= BY 33 54,6603 *50H 2,733
= 2,185
= 437
i 111
020 2Y 243 43,5573 +70H 3,049
= 2,434
= 490
o 125
QAL MES XY 61,0422 *500 30,521
2 24,445
= 4,867
i 1,209
SZz I (HES2)(2IEEXAH) 383,613 359,725 23,888
308 AtXIEHH SOl 383,613 359,725 23,888
07 XIS REZ 383,613 359,725 23,888
o&Zdl tE=3 95,605, 750& *4F J| 382,423
oAU R XHl HES 290,000 x4=2 D] 1,160
OYMEAMTZH| NES 7,500 *42 | 30
HY 2SI ALY (=X 63,006 61,305 1,701
= 29,564
& 1,128
o 32,314
JEERFICEEPIEEEEP) 63,006 61,305 1,701
= 29,564
& 1,128
o 32,314
Al Zel BEMAME (S S HZEIAL) 38,840 34,500 4,340
= 29,564
L= 1,128
i 8,148
101 Q124 H| 38,840 34,500 4,340
= 29,564
L= 1,128
i 8,148
03 RIIAHA2 2 E += 38,840 34,500 4,340
o2dzzH&ACIAHEE) 35,080
oJles 1,432,363 122 17,189
= 13,750
o 3,439
OAIZtel=E 13,082 *15A1 2Hx12& 2,355
= 1,884
o 471
OAUEE S (MEXNRES) 8,000,000 14 8,000
= 6,400
o 1,600
OMTHEERES 46,003, 000& *0.0150 691
= 552
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M =X
M HMSHAAY(=SX)
S EENTEEERBEEELR) (et &
SN EHY - (SH) - MBAY - BAS O &+ 04 e HRS2
- 139
(@) ESESESE=, 3,219, 000& » 14! 3,219
= 2,574
= 645
OdNEAZS 3,626,000& » 14! 3,626
= 2,900
= 726
O2LHAH | 240,000 128 2,880
= 1,152
& 864
= 864
O&2 (H| 88,000& *103] 880
= 352
= 264
= 264
Atcll 22l BEMAMNSE (SIS S HB2IAN) (RERIZ=OH) 24,166 22,825 1,341
101 21| 24,166 22,825 1,341
03 I HL=2=2 X2+ 24,166 22,825 1,341
O 22 HZEAHREMIZ=OH 24,166
(OPIE=r=; 802,860 x12& 9,635
[@OFSF=Et=; 1,096, 905& *23| 2,194
OYZE =0yl 1,316,286& *23| 2,633
O HZAH| 130,000 = 12& 1,560
[@OFSEE =y 140,000 *12& 1,680
O&dde 110,000 «12& 1,320
Ol 60,0002 *12& 720
OXZ+e 50,000& *12& 600
OEse 120,000 = 12& 1,440
OHIIE AtH| 91,8962 10 919
02021 sS4 =2 oA AR
35,875,000 *4.081% 1,465
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